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t &2(X0)  . &Mm +ap,(xq  =
ax, ax, axj 0,  j

k=l

= m+l,m+2,...,n (6.9)

6.1 iY%Jtl!  Lagrange

aF-=
ax,

yx: - f li a;;: = 0,j  = I,2  ,...,  n
ill

(6.12)

xj-wf  = 0, j = 1,2  ,...,  m
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x,> A,, Yi > 0, j = 1,2,3,  i = 1.2 @-damn  (31,

x,a I+,’  xd I = 0, j = 1,2 (5)  - (10))

XI x2 AI 12 A3

2 1 6 3 - 1 - 1 Al  0,

2 0 2 - 1 0 -

0 16 1 0 - 1 4

2 I 0 0 0 41
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x 0 I 2 3 4 5 6 7 8 9 IO 11 12

f,(x) 9 9 9 1 6 1 6 1 6 25 2 5 25 36 36 36 36

d,(x) 0 0 0 I 1 1 2 2 2 3 3 3 3

Y #
iiod”F~Pai  2 e9ldl~;~q@  f,(x) bbR”  d,(x)

f;(X)  = eilpJ@i [f,(12-4x,)+(x,+4)2]

0 < x2  < [x/4j

x = 12
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